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QUESTION 1

The work breakdown structure is used to organize

A. "Smart activity ID codes" representing similar items of scheduled work
B. The chart of accounts

C. Similar activity coding of schedule activities

D. The smallest defined work packet

Correct Answer: D

QUESTION 2

In a "crashed" schedule, which is a chain of activities that precede activity 2004?
A. 1001, 2001, 2002, 2003

B. 2001, 2002, 2003, 2007

C. 1001, 2002, 2003

D. 1001, 2002, 2002, 2003, 3001

Correct Answer: A

QUESTION 3

In its simplest form, what is the main drawback of critical path method scheduling?

A. It requires a backward pass to calculate late dates.

B. It assumes that resources are unlimited.

C. It doesn\\'t account for interdependent between activities.

D. It allows for Precedence Diagramming Method to be used in place of Arrow Diagramming Method.

Correct Answer: B

QUESTION 4
Assuming conventional finish-to-start relationships, to calculate a schedule retaining the existing logic means that
A. It is calculated using the original logic.

B. It is calculated using logic reflecting out-of-sequence progress.
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C. An out-of-sequence activity cannot resume until all predecessors are finished.
D. There is no such thing.

Correct Answer: A

QUESTION 5

An early start constraint dictates

A. An activity\\'s remaining duration.

B. The planned start of a successor activity
C. The planned start of an activity.

D. The actual start of an activity.

Correct Answer: B
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